NSN 5340-01-631-6155

Mechanic Equipment Hardware Kit - Page 1 of 1
View Online at https://aerobasegroup.com/nsn/5340-01-631-6155

End Application:
2320-01-565-3426

Component Quantity:

103

Component Document Origin:
Industrial

Document Source:

76761

Document Type:

Parts list

Product Name:

N8007 small parts package for n1502

Special Features:

AeroBase
i

Item is a kit, consists of; lock nut (3/4-16 unjf-3b)(qty-1), flat washer (.77"id x 1.31"od x .09"t)(qty-1), txt screw-20 pan/wsh 8-32x.37 (qty-4),
lock flange nut (8-32 s-grip)(qty-17), hex jam nut, 1/4-28 unf 2b nl(gty-12), insulator, .27 x .63 x .032(qty-12), hex nut (1/4-20 unc-2b)(qty-2),
belleville washer (.25" id x .50" od x .020" t)(qty-14), washer, .26 x .56 x .04(qty-14), insulator (.27" id x .63" od x .33" t)(qty-2), hex head
screw (10-32 .50")(qgty-12), woodruff key 15qty-1), flat washer (.265"id x .62"od x.032"t)(qty-3), bolt (1/4-20 unc-2a .75")(gty-3), flat washer

(.53"id x 1.06"0d x .09"t)(qty-1), lock nut (1/2-20 unf-2b)(qgty-1), retaining ring(qty-1), retaining ring(qty-1), retaining ring(qty-1) .

Shelf Life:

N/a

Unit Of Measure:
Demilitarization:
No

Fiig:

A23800


https://aerobasegroup.com

